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QUESTION 1

Recently, response speed of a certain Alibaba Cloud Elastic Compute Service (ECS) instance is unacceptably slow. By
using CloudMonitor we discovered that the ECS instance utilizes more than 80% of the assigned bandwidth. Which of
the following approach can address this issue and without the need to reboot the ECS instance?

A. Upgrade the bandwidth of the ECS instance

B. None of the above

C. Upgrade the CPU and memory of the ECS ins

D. Add a disk to the ECS instance

Correct Answer: A

QUESTION 2
The backend server pool of an Alibaba Cloud SLB contains multiple ECS instances, which may have different service
capacities. To exploit the different service capacities of backend ECS instances, which of the following statements is

correct?

A. Choose Weighted Round Robin mode to set higher weights to ECS instances with higher capacities The higher the
weight of the backend ECS instance the higher chance that the instance will receive requests.

B. SLB cannot assign more requests to certain ECS instances.
C. Choose Round-Robin model and ECS instances with higher capacities will surely be assigned with more requests.

D. Choose Weighted Least-Connection mode, and ECS instances with higher capacities will surely be assigned with
more requests.

Correct Answer: A

QUESTION 3

Alibaba Cloud CloudMonitor is a service that monitors Alibaba Cloud resources and Internet functions currently provided
by CloudMonitor? (Number of correct answers: 3)

A. Site monitoring

B. Customized monitoring
C. Custom firewall

D. Operation auditing

E. Cloud service monitoring

Correct Answer: ABE
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Explanation: https://cloudacademy.com/course/alibaba-security-monitoring- 1275/introduction-to-cloud-
monitor/#:~:text=Cloud%20Monitor%20is%20a%?20service,safeguard%20your%20products %20and%20business.

QUESTION 4

Alibaba Cloud ECS provides multiple instance types to meet the needs of different business scenarios. A medium-sized
enterprise user wants to use two ECS instances, one to deploy a single Tomcat service and the other one to deploy
Memcache. Which of the following configurations is most recommended?

A. Tomcat: 4 cores. 8G, Memcache: 2 cores: 16G

B. Tomcat: 4 cores 8G. Memcache: 2 cores 8G

C. Tomcat: 4 cores, 4G, Memcache: 2 cores, 8G

D. Tomcat: 4 cores: 4G, Memcache: 2 cores: 16G

Correct Answer: C

QUESTION 5

An online education website is built based on ECS. SLB and Auto Scaling, which greatly reduces resource cost, OandM
cost and without compromising system stability and user experience.

Now. the website admin wants to keep the user information (such as source IP, accessed URLs, and duration on each
page) for analysis to support their upcoming campaign events In this case, which of the following statements is NOT
correct?

A. Let each ECS instance in the scaling group keeps the user access information it processes Thus, the data saved by
these ECS instances can be accessed and analyzed at any time, making the solution not only simple, but also efficient
reliable, and cost-effective.

B. Save user-related access information to ApsaraDB for RDS in real time or quasi real time, which can then be used for
performing query and analysis.

C. Synchronize user-Synchronize user-related access information to ApsaraDB for Memcache in real time or quasi real
time. Then, access Memcache using an application or make the data in Memcache persistent based on certain rules
and then can use the persistent data for further analysis.

D. Synchronize user-related access information to OSS in real time or quasi real time for further use

Correct Answer: C
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